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Instructions to Candidates 

a).
This paper consists of TWO Sections A and B. 

b).
Answer ALL the questions in Section A. 

c).
In Section B answer question 6 and any other TWO questions in a separate answer booklet provided. 

d).
All answers must be written in the answer booklet provided.

e).
This paper consists of 6 Printed pages.

f).
Candidates should check the question paper to ascertain that all the pages are printed as indicated and that no questions are missing.

g).
Candidates should answer the questions in English

SECTION A: (25 MARKS)
Answer ALL questions in this section.
1. 
a)
What is agro forestry?





(2 marks)
  
b)
Outline three problems of forests in Canada.


(3 marks)

2. 
a)
What is ecotourism?






(2 marks)
  
b)
 How can the low tourist season be utilized in Kenya?

(3 marks)

3. 
a)
State two non-renewable sources of energy.


(2 marks)
   
b)
Outline three disadvantages of relying on hydro-electric power.












(3 marks)
4. 
a)
Define the following terms as used in population geography.



i)
Quinquennial census




(1 mark)


ii)
Decennial census.





(1 mark)
b)
Outline any three reasons that may cause inaccuracy of population census data.







  
(3 marks)

5. 
(a) 
Name commercial methods of fishing shown in the diagrams A and B  
below:
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B
A
  
 (b) 
State three reasons why marine fisheries in Kenya are underdeveloped 


SECTION B:
Answer question 6 and any other two questions in this section.

6. 
The table below shows the number of passengers that used railway transport in selected countries in 2006 and 2007. Use it to answer question (a) and (b).

	Country
	Passenger in millions

	
	2006
	2007

	Canada 

USA

Argentina

Zadia

Japan
	4, 200

27, 700

14, 100

96, 800

258,400
	3,000

16,600

12,000

163,800

311, 900




(a) 
(i) 
Using a scale of 1cm to represent 20,000 million passengers, draw 
comparative bar graphs based on the data above. 
 (9 marks)
     
(ii) 
State two advantages of using bar graphs in representing data.


   








 (2 marks)
(b) 
Calculate the percentage decline in railway passenger transport in Canada between 2006 and 2007. 





(2 marks)
(c) 
Explain why there are few railway links among African countries.


  









 (6 marks)
(d) 
Explain three ways through which Kenya has benefited from her international airport.     





 (6 marks)

7.
a)   
(i)  
Define Wildlife





   (1 mark)
(ii) 
Distinguish between Game sanctuary and a game ranch. (2marks)

   

b) 
Use the outline map of E. Africa to answer question (i) and (iii)
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i) Name the national parks marked A, B, C


(3marks)
ii)  
Locate and name the following on the map.

(3marks)

- 
Murchison falls National Park

- 
Selous Game Reserve

- 
Sibiloi National Park
iii) 
Explain how the following factors have influenced wildlife

I) Vegetation





(2marks)
II) Altitude





(2marks)
      
c) 
i) 
State three factors determining the future of tourism in Kenya











(3 marks)
ii) 
Apart from wildlife and scenery, identify three inland tourist attraction in Kenya. 





(3 marks)

d) 
Explain three measures taken by the Kenya Government to conserve wildlife.  







(6 marks)

8.
Use the photo below to answer the questions (i) and (ii)
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(a) 
i) 
Identify the type of photograph. 



(1 mark) 

ii) 
Describe the activity shown on the photograph. 

(3 marks) 

(b)
State three benefits that resulted from the reclamation of the Yala 
Swam








 (3marks)
(c)  
(i)
Explain four physical factors that made MweaTebere a suitable    

location for irrigation.




(8marks)
(ii)
Name two major rivers that supply water to to the MweaTebere irrigation Scheme. 





(2marks)
(d)  
(i)
Describe the stages in the reclamation of land from the sea in the 

Netherlands.  






(6marks)
(iii)
Explain two differences between land reclamation in Kenya and the 

Netherlands. 






 (4marks)
9.
The diagrams below show some settlement patterns. Use them to answer question a (i).





A




B

a)
(i)
Identify the settlement patterns A and B above.

(2 marks)
(ii)
Highlight any five characteristics of the Central Business District of an urban centre.





(5 marks)
b)
Describe any four similarities of Nairobi and New York giving relevant examples.







(8 marks)
c)
Outline any five causes of urban decline.



(5 marks)
d)
Highlight any five factors responsible for the increased importance of Mombasa Port.






(5 marks)
10.
 a) 
Define the following terms as used in trade

i) 
Tariff







  (1 mark)

ii) 
Quota 







  (2 marks)

iii) 
Incentives 






  (1 mark)

iv) 
Balance of payment 





  (1 mark)

       
b) 
Explain four factors that inhibit trade between Kenya and her neighbors. 


 








  (8 marks)

      
c) 
State five problems developing countries face in international trade. 



 








  (5 marks)

d) 
Explain four measures Kenya has taken to reduce her unfavorable balance of trade. 
   






 (8 marks)
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